CSE 326 Reading Quiz

Name: ______________________ Score: ____

Wednesday 6/21/00

Friday 6/23/00

1-4.  Here is a chart (fig. 2.3, p.46) which plots the curves of the running times of four different algorithms for the Maximum Subsequence Sum problem.  The algorithms have growth rates  (in no particular order) of O(N), O(N2),  O(N3), and O(NlogN).   Label each of the four curves with the correct Big O growth rate:

5. The Maximum Subsequence Sum problem is used frequently in chapter 2 of the text.  Following is an instance of that problem:


3    -4    1    0     5     -2     4



What is the answer to this particular instance?  (Note: asking for the answer to the problem, not for an algorithm for solving the problem). 

6. Euclid's Algorithm is an algorithm for (circle one):


a. finding the maximum value in a sorted array


b. finding the greatest common divisor of two integers


c. raising an integer to a power


D. dropping an apple on Newton's head

Weiss gives a couple of general rules which help to quickly estimate the growth rate of certain algorithms.   Fill in the two blanks with your choice from among: O(1), O(N), O(log N), O(N2), O(NlogN), O(2N):


7. An algorithm is ___________ if it takes O(1) time to cut the problem size by a fraction (which is usually ½).


8. If constant time is required to merely reduce the problem by a constant amount (such as to make the problem smaller by 1), then the algorithm is ______________. 

